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AFo] : 100,0009+1Y = 100,000
AAFAH] : 150,0009%2Y = 300,000
HAF 0 100,0009%13) = 100,000
3.y EH] 200 200 0
4. 35 EA A 800 800 0
5.3 A= 1,640 1,380 260| RIS 1 100,00092¢ = 200,000
ARHIAE : 10,0009%19 = 10,000
AR EE 0 50,00090%19 = 50,000
7. [ZINAEHEEY 70,432 70,432 0
1.9 Rk8-] 70,432 70,432 0
8. [=IAIE A 11,124 11,124 0
1. 481 11,124 11,124 0
9. [ZINBF)AEMNY &4 s} 5,000 5,000 0
1L.A7188 5,000 5,000 0
3.3y dH 6,900 3,900 3,000
1.8t 2999439 1,200 1,200 0
L[z]gaddes] e 1,200 1,200 0
1. g9k 7 5%14] 1,200 1,200 0
2.3 Yy 5,700 2,700 3,000
L[z ns)ed 5,700 2,700 3,000
1. YukEgn) 2,000 2,000 0
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(BHABF) (FA)A 25 d
©1,000,000%33] =

3,000,000
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